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1p 11 Which statement about the tree is true according to paragraph 3? 
A It became known through a love story. 
B It has been an inspiration for dating apps. 
C It is a popular wedding location. 
D It is also known to people abroad. 
 

2p 12 Geef van elke bewering aan of die juist of onjuist is volgens alinea 4. 
Omcirkel achter elk nummer ‘juist’ of ‘onjuist’ in de uitwerkbijlage. 
1 Karl-Heinz Martens heeft een plakboek vol met herinneringen aan de 

boom. 
2 Karl-Heinz Martens brengt na zijn pensioen nog steeds brieven naar 

de boom. 
3 Karl-Heinz Martens spreekt door zijn werk meerdere vreemde talen. 
4 Als je geen interesse hebt in de schrijver van de brief, moet je de brief 

terugleggen. 
 

1p 13 What becomes clear from paragraph 5? 
A ‘Deutsche Post’ started the myth about the tree. 
B Mainly women send love letters addressed to the tree.  
C Some people seem to think the tree has special powers. 
D The tree attracts many visitors all year round. 
 

1p 14 What becomes clear from paragraph 6? 
A The letters are delivered by specially selected postmen. 
B The letters are delivered only once a week. 
C The tree has its own unique postal address. 
D The tree is quite difficult to find. 
 
 

Tekst 7 
 

1p 15 What is the writer’s main purpose in paragraph 1? 
A to explain why a man wanted to advertise online 
B to illustrate how much a girl hates dogs 
C to introduce an ad he has read 
D to show that he really likes pets  
 

1p 16 Wat is de toon van de advertentie (alinea 2)? 
A boos 
B grappig 
C onverschillig 
D teleurgesteld  
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1p 17 Which title fits the text best?  
A Not everyone is a pet person 
B Saving homeless dogs 
C Sharing is caring  
 
 

Tekst 8 
 

1p 18 What happened to Curtis Whitson and his family during their camping trip 
according to paragraph 1? 
A They fell ill. 
B They got stuck. 
C They lost their way. 
D They were injured. 
 

1p 19 How does paragraph 2 connect to paragraph 1? 
A It contradicts the point made in paragraph 1. 
B It further explains the point made in paragraph 1. 
C It summarises the point made in paragraph 1. 
 

2p 20 Geef van elke bewering aan of die wel of niet genoemd wordt in alinea 3 
en/of 4. 
Omcirkel achter elk nummer ‘wel’ of ‘niet’ in de uitwerkbijlage. 
1 Curtis Whitson en zijn gezin werden wakker van het reddingsteam. 
2 Curtis Whitson had opgeschreven waar hij en zijn gezin gestrand 

waren. 
3 De vriendin van Curtis Whitson vond zijn plan een goed idee.  
4 Het reddingsteam had moeite om Curtis Whitson en zijn gezin te 

vinden. 
 

1p 21 Why couldn’t the family be rescued straight after they were found 
according to paragraph 5? 
A because of bad weather conditions  
B because the rescue team didn’t have the right equipment with them 
C because there was not enough light to do it safely  
D because there was only one helicopter available  
 
 
 


